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A separate OMR answer sheat with carbon impression is provided fo all the candidates for answering. On completion of
the test tear the OMR Answer sheet along the perforation mark af the top and handover the original OMR answer sheet to
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All objactive type questions carry equal marks of THREE for a correct answer, ZERO for no answer and MINUS ONE for
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Question bookiets have been marked with A or BorC.or D on the right hand top corner, which is mandatory to be wrltten
on the OMR sheet in the box and bubble appropriately, failing which, the answer sheet will not be evaluated.

7. YRAH F 3T SO HOIEEEA F HTAR Fod B F 0 ST G ST whar ¥ Henr @ fe A fRar
S|
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9. . 99T / Question 3cal dey
Q.No , Answer Options
L. | afttar daer dieeed &1 =AaH 06T § - (a) 10°
The least count of vernier bevel protractor is ~=------—- O
(c}5°
()2’
2. | RAgE, 9 & OROT a0 g FRE dwer 1 swEer B | () wigy T
ST §7 Pipe vice
| Which vice is used for holding rivets, keys? (b) grar TR
Hand vice
(c) e Rhar
Pin vice
(d) 571 Rsr
Bench vice
3. | P 3t wwe 1 geaar @ vAREE 3w AT ¥ oy & (a) f=rIT / Clearance *
feer aram &, & U fhe Y o FE T (b) cafa=or / Interference
If tolerance of hole and shaft represented as shown in (c) uRadeT / Transition
below figure, then this fit is called --~--- : -
S, (d) 5wt JS ¥
E Z. dSHAFT None of these
[ AN SN N HoLE
4| gEr & oo s g A AR 3 B & g § #@| () $9r care
........ FEa B Major diameter
The diameter of the thread, at which the thread thickness | (b) T sar&
equal to half of the pitch is called -~we-vmm- Pitch diameter
- (c) oy =g

Minor diameter
(d) #eamET () =ama
Shank diameter

Page 2 of 14




TE 02 (Fitter) : Series— B

5. |wEgar wome & e BN F IEER Cx7 I # | (a) IR B OFAH WA
gfafafer sar & l Maximum limit of size
In a tolerance system, as per the below figure, the | (b) 3T T =y A
dimension ’x’ represents ---------- : Minimum limit of size
' ' (c) fF=T safamA
s KE"/ 77777777 TR Lower deviation
. m (d) IR sxidsweT
@ Upper deviation
6. | 60°45 @ FoT B (a) 60.75°
The angle A L U— (b) 60.5°
(c) 60.25°
(d) 60.6°
7. |ww fowg 3R wite wEmaar gumell A @l 3R He | (a) O / Hole
STAGHH = 3ifha Far 81 | (b) enFe / Shaft
In a hole and shaft tolerance system, small letter indicates | (c) =i &g X emwe
fundamental deviation of --------- Both hole and shaft
(d) 589t P e
None of these
8. |uw uwe oW o et B s ufay smwfa @ fsaeT | (a) Fe
FLAT Y o FEad P , Centre drill
A single tool which performs the combined operation of (b) faader Eafar
drilling and counter sinking is called --------- Counter sink
(c) TR &g
Counter bore
(d) =Telr
Tap
9. |%7 g # IF &7 3 WaF o & Hewwe WF F | (a) ¥ / Root
EIES T — &Ed ol : ' (b) e / Flank
In a screw thread, the top surface joining two adjacent | (¢) &€ / Crest
sides of thread is called ~-=-n---- (d) @e / Throat
10" { o MI2X1.5 & wewd (o) & s & v s | (a) 11.85 mm .
HATH(ASS) SUTH #4182 (b) 12.15 mm
What is the blank size (diameter) for preparing a bolt of
M12X1.59 . - (c) 11.5 mm
‘ (d) 12.3 mm
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11. | aftfer Hfaw % 39 e wher ot & 9 whel o | (@) 0.02
40 SUEX g @ feSE e AR, mm # @ SEE | (b)0.01
TIAqH VLA (VL) FAT §7 (T Fhel $F=1mm ) (c) 0.025
In a vemnier caliper 39 main scale divisions are divided
into 40 equal points on the vernier scale. Then what is its | (2 0.03
least count (LC) in mm? (take the value of main scale
division =1mm)
12. mh?ﬁmm%(mﬁﬁwwm)%ﬁvw (a) Taerg ool
MISECH Soluble oil
What is the coolant used for machining cast iron? (b) T@E faery
‘ Chemical Solution
(c) @fasT oo
Mineral oil
(d) 2frerer e
No coolant
13,1 ¥ 199 =3 fr faend & v sged o (a) el @es / Single cut
The file used for filing leather is --—mmumemn (b) GIT FreaT / Double cut
' (c) UFT e / Rasp cut
(d) eer &rest / Curved cut
14, | t& AR = wmmvmcemmeeee T (a) 0.001
One micron = —---nramoum- cim (b) 0.0001
(c) 0.01
(d) 0.00001
15. | B daw a1 R Aor B god O REd & saiy 2q | (2) 45°
3Ugad’ (b) 100°
What is the point-angle of prick punch which is used for (c) 75°
making light punch marks?
(@ 30°
16. | srclrer #=th (IS) 9oTelt & 38R F 3ol e &7 9.5~ (a) Y& o7
H-IS5101-HS, weanfad &1 g& & dear 9.5 @1 &5 31 | . Rakeangle
¥ (a) fger T dars
As per the Indian standard (IS) system, a drill bit is Drill bit length
designated as 9.5-H-IS5101-HS, in this the number 9.5 (c) Fevse =
stands for ~--------rrm-nnn Spindle diameter
(d) 3ol earg

Drill diameter
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17. (a) 3T / High
-mme BT TET -
If the strength of material to be drilled is high, the drill ®) / Low ‘
speed should be -----------em- (c) 57 R a1 TR wTE g
Speed will not depend on
strength
(d) 39T ®1$ F6r / None of
these
18, | R a1 44 m/min 3R BT @1 @@ 20 mm ¥ faw | () 350
' fedser RPM 1 a1rar & (b) 1400
Calculate the spindle RPM for drilling speed of 44 m/min (©)500
and diameter of drill 20mm,
‘ (d) 700
19. | Ehfeas gaisr @S - ZarT FaAlgse (a) 3T / Volume
The engineer’s hammer is specified by its -------- OYEGEIGEIES
‘ Length of handle
(c) ¥R / Weight
(d) wErdr / Material
20. | wiear YT & AT AR 7 (a) 4T / Shoulder
Which is not the part of a file? (b) T8 / Heel
(c) BTl / Ferrule
(d) ReT / Barrel
21, | tw @rae gad o e s 7 39 3l wers 10 | (2) 220 e
2
Aot & & TRY Wag AT T IAT ] (b) 110 cmm
' (c) 440 cm®
Find out the outer surface area of hollow thin cylinder, .
(d) 70 cm
whose diameter is 7 cm and length is 10 cm?
22. (a) M2 / Notching

9 G TEG F PR B A WS DA AT AR B

The process of stiffening edge of sheet metal article by
folding is called ---------

(b) gfFHeT / Hemming
(c) 9fRiT / Punching
(d) e / Snipping
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23. | LPG =1 fawawor &2 (a) SNfFas WoEa 9
. _ Liquid Profile Gas
What is the full form of LPG? (b) AfFawEs defeew g
Liquefied Petroleum Gas
(c) ehfeas W A
Liquid Pressure Gas
(d) & veR
Low Pressure Gas
24. | wdY Y el F WO SN FAF W 3UYET Yerd Sl | (a) g / Epoxy
Foa dY, #ifdr 3 e gfafear @1 afaer s=ar &1 | (b) ®"err / Char coal
The material used in furnace wall as a inner most layer, to | (¢) 39ad® / Refractory
resist high temperatures, physical and chemical reactions (d) PR / Nitrading
is called ---—-nm-
25. | 104°F @& ol afcwaw & agar (2) 40°C
0
Convert 104°F into Degree Celsius, (b)30°C
‘ (©23°C
(d)50° C
What is the welding symbol for fillet weld? (by ™1
© Vv
@ Nl
27. | < (Fer YOT) F gAe? (a) kg/em”
What 15 the unit of Torque? (b) Kg/em
(c)Kg—cm
(d) gm/cc
28. | Y ~ wfafedhs W9 dosw & ofafefom fafdisy s aof (a) ool / Red
T T §? : (b) A%T / Maroon
What is the colour code of acetylene cylinder in oxy- ()& / Green
N ;
acetylene gas welding? (d) F1&T / Black
29. | wifotar wiswar formay o7t v s &9 g § 3l vy (a) 3r9afEeaT / Upsetting

FIC FAET Gl § & e e &l

The forging process in which, the length of forge reduces
and cross section increases is called ---~r-----

(b) STSeF 313 / Drawing out
{c) ergeToT / Shortening
(d) T8 / Drifting
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30. | srepferad v & desd & fov @i W Jesd B IUYFT | (a) 3T BEG SEUE
? High carbon steel
What is the welding rod used for welding aluminium (b) a9 - @i s g
plates? Copper-silver alloa
‘ pp v ¥
(c) Y& Jtepiaras
Pure aluminium
(d) Fie
Bronze
31, | g 7 S SR FIT AT % TSI A AF WG - T | (a) HgeT / Softer
As the % of carbon increases in iron, it becomes more ---- (b) FEN / Harder
' ‘ (c) orEiTem / Ductile
I (d) TereFd / Tougher
32 | oot e 2l (a) @y venfles cennfees
Epoxy is & ----------- Thermo plastic plastic
(b) ara afdar venfees
Thermo setting plastic
(c) g HFT &g
Non ferrous metal
(d) o &Ry
Ferrous metal
33, | s ol ¥ 9T AR W e wE A ufRE § eeeeeee (a) Tsfelar / Puddling
- . . . (b) ¥ATPE / Smelting
The process of obta%nmg pig iron from iron ore is called © ar/ Prickling
_______ (d) senieeaT / Blasting
34. | g 3@ o B A R A RET w 3R & B F | (a) 25
dra Y gt @ var w1 | . ()20 -
Find out the distance between the two holes in a plate as
per the hole table shown in the below figure, (c) 43
HOLE TABLE: (d) 15
9 2| lmoENo| X 1Y
. 1 5 5
Y 2 2 | 20

Page 7 of 14




TE 02 (Fitter} : Series — B

35.

arferer f3er Hlm-nmaoe earT S £
Pneumatic drill is operated by ~--nm-x-

(a) foreg ot
Electric power
(b) gdiifse arg arfera
Compressed air energy
(©) g
Muscle power
(d) gaafaa ufrd
Hydraulic energy

36.

mmmwmmm%mm -------- g

As the rake angle of the cutting tool reduces, its strength
R0 || [ ——

(a) S&aT
Increases
(b) S gr
Reduces
() & I DI AT AL
No affect on the strength
(d) sa# ®ig g B

None of these .

37.

or awmeT & w9 & 91 91y =y ugEne ?

Identify the heaviest material in the given options?

(a) Hger SEUTT
Mild steel
(b) AT
Aluminium
(c) TeniEe®
Plastic
GCES
fead

38.

Toear otg &1 ygar Tax Far §?
What is the purity level of wrought iron?

(a) 90.9%
(b) 95.9%
(©) 99.9%
(d) 93.9%

39,

A QU see s [ & For @@ 9fafafe swar &)
What is an angle ‘@’ represents in the cutting tool figure
given below?

(a) Toreprefr wror
Clearance angle
(b} I&F RIoT
Rake angle
(c) a3 FHiur
Wedge angle
(d) gust g el

None of these
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40, | mehe & AP & AT TA0 A FAET 3T F | (a) =T/ Bed
hsal AT Teler T JfT B Iuers HIar B (b) ¥ Teiw / Head stock
Name the part of a lathe machine, that provides the (¢) ag=t / Carriage
method of holding and moving the cutting tool, (d) &ger Tl / Tail stock

41. WWWWWW%” (a) 21 X 10° N/m’

. What is the Young’s modulus of mild steel? '(b) 210 X 10° NAm?
(©) 70 X 10° N/m?
(@) 7 X 10° N/m?

42. | & A v K & @ 3cue (25x%° - 4), § I A= (5x-2) | (8) (5x-2)
dr B & 9al #0TT] (b) (5x +2)
The product of two quantitics A and B is (25x —4), If A= B
(5% - 2), Then find B? (©) (hx=2)

‘ (d) (4x +2)

43, | & TR & B # 300 N&r aef § forgey amrﬁm warg | (3) 20 N-m
15 9t §, < 9ged e HT 9T o? (b) 90 N-m |
A force of 300N is applied at the end of spanner, whose (c) 45 N-m

| effective length is 15cm. Then find the torque applied? T ‘
(d) 11.25 N-m

4. | 8mm wd ¥ uF § Pt 4 mm TR € R wrer ST (2) 8
TRl &2 ' (b) 4
How many cubes of 4mm side can be cut from cube of ©) 6
side 8mm?

(d) 12
45. Al e Tmmmel # mehe @ Rwar wma # | (a) O Fwer wwer

TR & Gy & 997 oo @ oieRar & d9y # g
Reg T wfafafer gt ‘

In a machine maintenance manual, regarding the
frequency” of libricating the machine, square symbol
represents ~~---mrmmmnm--- - '

Daily lubricate

(b) gearfes Reer aar
Weekly lubricate ‘

(c) FIflh fRreper el -
Monthly lubricate

(d) @i Rear wear
Yearly lubricate
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TF 63 WU & Aurg S 9@ S R e arg @

46. (2) 32,24, 7
AR 4:3:2 % IO H S w56 Baarg 7§ () 29, 22,12
Yedd U A AT FA A e AR (kg) T IIIC (©) 28, 21, 14
An alloy of weight 63kg is made-up of Copper, Zinc, and
Tin metals by mixing in the ratio of 4:3:2 respectively. (d)26,20,17
Then pick the correct weights (kg) of each metal in this
alloy in a same order? ,
47. | sFa geaeR O TS dor @ wars h § o swer | (@) b2
e hey; HET @7 (b)h/4
Where is the centre of gravity (CG) of right circular cone () h/3
of height ‘h’ from the base?
‘ (d) 2h/3
48. | =forg Nz w a7 AR TNV TYOT qof &1 —~--mm FEd &7 | (2) &1 / Pressure
The friction force exerted by air on a moving body is | (b) eieaT / Drag
called -—-—-omomm- (c) 3T / Lift
(d) 3cedtashar / Buoyancy
49. | 75 m’ 3T F g H ST 150 gm ¥ I g F 300 | (1) 300 gm
m’ AT & HT G (b) 900 gm
Weight of 75 m® volume of metal is 150 gm. Then find 500
the weight of 300 m® volume of same metal, © gm
' (d) 600 gm
30. | v Fier JreqAlA de B et g+ 1/3 4 Bear | (2) 27
Bl¢ g g7 Y| O fhaa AT s S ged § ()9
| A spherical aluminium ball is melted and made into (©) 18
smaller balls of 1/3 ,4 radius of original one. Then how
many such balls can be made? (d) 12
51. | o s ygaw ? (a) Hfoeraw =1 Totbe
Calcium Di Sulfid
Tdentify a solid lubricant? ® e ‘;; ot
Molybdenum Di Sulfide
(c) AT 2§ gl
Potassium Di Sulfide
(d) Wf3ua 515 "o
Sodium Di Sulfide
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52. | arefe melfelr {fF o auw +t fowst anq wafder wfhar @7 | (a) serwe) Scatela mefifs
3T T smar € Electro Discharge machining
Pick the non-conventional machining method; it uses | (b) Feragl TG AN
{ reverse metal plating process. Electro Chemical Machmmg
(c) e Aedifetar
Ultra Sonic Machining
(d) geleFgl Tl
Electroplating
53. | fhe @ @ waw SEA oM @ SR & gEe @ A | (a) TR @ 9 fve
Mae foar omer | 59 a fr ag By A& e @ ome M| Press fit by expansion
FHY ¥ AGHAR B Aod N F AT TRt F 3emAf 1 | (b) Es w9 e
Name the fit, in which the shaft is cooled below the room Press fit by shrinking
temperature until it fits into the hole, then assembly is | (c) aa=fed 99 fhe
allowed to attain room temperature. Hydraulic press fit
| (@) R TS
None of these
54. [ s =@ 9w & e (L) 3l Fra (P) & & a7 wa ¥ | (@) L=P
What is the relation between the lead (L) and pitch (P) of | () L= 4P
a two start thread screw? (c) L=2P
(&) L=1aP
55. | 3UERY &1 A san forad gart w3 # 3o 3R | (a) gsfede suwmw
 fETeweT & AT 3cdlelT THE @RT fRar Jrar g1 Hoisting tool
Name the tool, which is used to lift or move heavy loads | (b) NIy
by leverage affect . Crow bar
(c) Wi fTowe
Fork lift
(d) s 3ueEt
Broaching tool
3 faFaRoT Y geas T R gard A & @ g | () FG SEI/ Mild steel

56.

7 Pick the material Which has the least coefficient of

thermal expansion,

(b) 3egAf A/ Aluminium

(c) 3=a¥ / Invar
(d) Trefaws / Titanium

Page 11 of 14




TE 02 (Fitter) : Series — B

S &7

In which machining process, large amount of material is

removed?

57. |« e Ry & Rare 3wqar o @ @F 3wR F A R | (a) dlsE a0
Compressive force
& @ o9 ¥ 3T AAG - & 3eedeT &1 (b) = 7
If a rod is bent into curved shape as shown in below Tenstle force °
figure, then the top meost ‘Iayer is subjected to -------—- © Fﬂﬁ? Ez'Fr
Twisting force
/ ? (d) € o T
T No force
58. |Ar R e At R o oer so g Fr £ ? (a) 10
What is the smaller diameter of a tapered pin shown in (b) 18
below figure? () 12
(d) 16
Taper 1:50
——————— ——
59. | gorrel wiider ufgRar # QU R Sare GG N ----mv (a) #E / Cathode
. (b) T / Anode
& $9 A 3uer faar :
w ST ¥ (c) g@&«g13 / Electrode
In a clectroplating process, the item to be coated is used (d) 577 & 15 a6 /-
AS e ' None of these
60. | forg ahifeior wfshar o, or I & et & fAeren | (a) A/ Lapping

(b) FATessT / Milling
(c) &feT / Honing
(d) aftser / Buffing

Page 12 of 14




IF doh / Rough work

TE 02 (Fitter) : Series — B

Page 13 of 14




IF deh / Rough work

TE 02 (Fitter) : Series — B

- Page 14 of 14




